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JERL K % OUT| IN | GR HDCP NET 5 NEfL K OUT| IN | GR HDCP NET 5% [[fva OUT| IN | GR HDCP NET =53
B Az 46 | 42| 88 128.0 60.0 | AE 51 |BH AfE 46 | 48 | 94 |16.0 | 78.0 101 |fngE 52 | 49 /101 | 16.0 | 85.0
=A 39 | 41| 80|16.0 |64.0 AE 52 |EMH H=E 46 | 49| 95|17.0 | 78.0 102 | KEF 50 | 52 [102 | 17.0 | 85.0
Tk = 46 | 46| 92 127.0 65.0 | AE 53 |NEE = 47 | 50| 97/19.0 | 78.0 103 |&F 50 | 52 [102 | 17.0 | 85.0
BA & 49 | 44| 93 127.0 66.0 |AE 54 K ZEHE 45 | 50| 95|17.0 | 78.0 104 )10 56 | 59 115 30.0 | 85.0
Nim  B{= 47| 50| 97 30.0 | 67.0 A= 55 |AHF 44 | 50| 94|16.0 | 78.0 105 /IR 51| 59 /110 | 25.0 | 85.0
WHE ‘% 45| 42| 87[19.0 168.0 56 |FZxA EF 50 | 56 106 | 28.0 | 78.0 106 | &t 44 | 58 (102 | 17.0 | 85.0
MNE B 44| 47| 91|22.0 1 69.0 57 |FE W 44 | 61 105 |27.0 | 78.0 107 |12 F#t 56 | 52 108 | 22.0 | 86.0
TH #— 41| 50| 91 22.069.0 58 =% H—HB 53 | 42| 95|16.0 | 79.0 108 7Bk 52 | 52 |104 18.0 | 86.0
mE RBAR 47 | 44| 91 21.0|70.0 59 |l —fH 53 | 47 /100 | 21.0 | 79.0 109 |2 A 54 | 49 |103 | 16.0 | 87.0
ENE 45 | 45| 90 20.0 | 70.0 60 |BFHA & 49 | 46| 95|16.0 | 79.0 110 |[/NE 56 | 62 118 30.0 | 88.0
REIE BN 45| 47| 92|22.0 | 70.0 61 |BH =85 50 48| 98|19.0 79.0 111 | &= 50 | 58 /108 | 16.0 | 92.0
RN 43| 49| 92|22.0 70.0 62 |22 —p 49 | 48| 97|18.0 | 79.0 112 |\IMH 61 | 54 (115 |22.0 | 93.0
& T& 47 | 43| 90 19.0 | 71.0 63 |/\ME & 49 | 50| 99|20.0 | 79.0 113 &5 59 | 55 (114 | 19.0 | 95.0
He =& 52 49 101 | 30.0 | 71.0 64 |FR 1= 48 | 50| 98|19.0 | 79.0 114 |Hft 60 | 59 119 23.0 | 96.0
i = 46 | 43| 89|18.0 | 71.0 65 ZH #BE 49 | 53102 |23.0 | 79.0
LA 1E5RE 49 | 47| 96 |25.0 | 71.0 66 |/ & 50 49| 99 |19.0 80.0
= EEF 46 | 45| 91/20.0 | 71.0 67 EH BF 55 55 /110 | 30.0 | 80.0
R EZ 44 | 45| 89 18.0 |71.0 68 |tE 54 | 55109 | 29.0 | 80.0
LA 235 44 | 46| 90 19.0 | 71.0 69 |EH 1B 46 | 51| 97|17.0 |80.0
e Exz 43| 45| 88|17.0 | 71.0 70 |BRE & 54 | 44| 98 |17.0 | 81.0
AR ET 42 | 46| 88|17.0 | 71.0 71 BT #— 52 | 47| 99 |18.0 | 81.0 e L H 43 | 44| 87|18.0 | 69.0 |=#& [2024.11]
T R— T 53 46| 99 |26.0 | 73.0 72 A\XF E 52 48 100 | 19.0 | 81.0 G B 45| 49| 94 |21.0 73.0 & [2016.3)
&R FHik 48 | 45| 93/20.0 | 73.0 73 |EBEN = 54 52 /106 | 25.0 | 81.0 aissm A 57 | 50 107 | 30.0 77.0 %15
NlE ER 47| 45| 92]19.0 | 73.0 74 |FER & 51 | 50 101 | 20.0 | 81.0 aiEE R 51 | 56 107 | 30.0 77.0 #1570
EaR B2 45| 46| 91|18.0 | 73.0 75 |fB@ & 56 55111 |30.0 81.0 BRE T 44 | 52| 96 |19.0 | 77.0 #1&M
Ll 43 | 46| 89 |16.0 | 73.0 6 EEF EA 54 54 108 | 27.0 | 81.0 aigm BT 49 | 48| 97 |18.0 | 79.0 |&i#& [2024.12]
M —= 43| 48| 91|18.0 | 73.0 77 B &R 48 | 50| 98|17.0 | 81.0 a1 H 52 | 51 /103 | 23.0 | 80.0 |&#& [2024.5)
BFH S 53 | 49 102 | 28.0 | 74.0 78 /NAR HB— 44 | 53| 97|16.0 | 81.0 amE AT 51 | 51102 16.0 | 86.0 |&#& [2024.11]
BA EX 53 | 51104 |30.0 | 74.0 79 |BUBE  —3A 51 47| 98 |16.0  82.0 NR |/\E
B HET 49 | 48| 97 23.0|74.0 80 |EM =& 52 | 51103 | 21.0 | 82.0
Pk 5 49 | 48| 97 |23.0 | 74.0 81 |BKt 1% 53 | 52 |105 | 23.0 | 82.0
R 3B 53 | 45| 98|23.0 | 75.0 82 |FH 51 | 50 101 | 19.0 | 82.0
AR R 51 44| 95|20.0 | 75.0 83 A& Al 51 51 /102 |20.0  82.0
£ 23 49 | 44| 93/18.0 | 75.0 84 |fA FE 49 | 51 100 |18.0 |82.0
ElE fE 47 | 51| 98 23.0|75.0 85 |EEN BT 48 | 52100 | 18.0 | 82.0
+8 M 42 | 49| 91 16.0 |75.0 86 |Mfm IEE 46 | 52| 98|16.0 | 82.0
A EX 42 | 50| 92|17.0 | 75.0 87 TR —T 48 | 55 (103 |21.0 | 82.0
AKX 56 = 50 |106 | 30.0 | 76.0 88 A& E=k 52 48 100 | 17.0 | 83.0
M E 51 48| 99 |23.0 | 76.0 89 i Bx 53 | 50 /103 | 20.0 | 83.0
mH e 49 | 47| 96|20.0 | 76.0 90 |=# HiA 53 | 51104 | 21.0 | 83.0
mR FE 52 52 /104 | 28.0 | 76.0 91 |HKA A 50 | 53103 | 20.0 | 83.0
BiR % 51 | 54 105 |29.0 | 76.0 92 KkH i 48 | 54102 |19.0 | 83.0
BRI #%E 45 | 53| 98 22.0|76.0 93 #BO F— 48 | 55103 |20.0 | 83.0
I 54 47 |101 | 23.0 | 78.0 9% AR BZ 53 | 48 101 | 17.0 | 84.0
R KRR 50 46| 96 |18.0 | 78.0 95 \MVE T 53 | 50 [103 | 19.0 | 84.0
LA R 52 | 49101 |23.0 | 78.0 9% |k EE 52 | 51103 |19.0 | 84.0
Wil AfE 52 | 50 (102 | 24.0 | 78.0 97 L)l 51 | 51102 | 18.0 | 84.0
BEk RE 50 | 49| 99 |21.0|78.0 98 k4 Ak HE 49 | 52 (101 |17.0 | 84.0
A BEX 47| 48| 95|17.0 | 78.0 99 @ EAN 51 59 /110 | 26.0 | 84.0
B BE 50 51 /101 |23.0 | 78.0 100 |=A £IF 56 48 /104 | 19.0 | 85.0
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